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General Awareness

1.

Which country launched the first artificial satellite?

a) USA
b) Britain
c) USSR
d) France
Ans (c)

Jaspal Rana is the name associated with which of the following games?

a) Boxing

b) Archery

c) Shooting

d) Weight lilting
Ans (c)

The Union tourism ministry has launched an initiative on ‘safe and honourable
tourism’ which would essentially promote the cause of protecting

a) Women

b) Children

c) Women and children
d) Seiner Citizen

Ans (c)

The system of dual citizenship exists in

a) India
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b) France

¢) United Kingdum

d) USA

Ans (d)

. Which among the following substances can be used as a Food preservative?

a) Vinegar

b) Potassium permanganate
c) Sodium Benzoate

d) Sodium Hydroxide

Ans (c)

. In which of the following states is located KG-DG oil & gas field of Reliance
Industries?

a) Guijarat

b) Maharastra

c) Andhra Pradesh
d) Karnataka

Ans (c)

. Clotting of the blood is related to which of the following Vitamins?

a)D
b) K
c)C

d) B
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Ans (b)

8. Bagasse. a bye product of sugarcane is mostly used in manufacturing which of
the following?

a) Alcohol
b) Paper

c) Brushes
d) Fertilizers
Ans (b)

9. Which of the following is a part of Hospitality Industry?
a) Hotel

b) Cruise liners

c) Airlines

d) All of the Above
Ans (d)

10.The following is a preparation of coffee

a) Cappuccino
b) Espresso
c) Irish Coffee
d) All of the Above
Ans (d)
English

1. Find the meaning of the word : PECKISH
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a) loving

b) plump

c) hungry

d) fasting

Ans (c)

. Find the meaning of the word : BUMBERSHOOT

a) umbrella

b) rifle

C) spring season
d) dart game
Ans (a)

. Use the right word in the right place. There is no sense carrying on that
way.

a) if
b) in

c) of

d) off
Ans (b)

. Use the rightward in the right place. What has the new administration
had on the investors?

a) effect

b) affect
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c) iffect
d) efect
Ans (a)

. Find the closest meaning of this word : PROTUBERANT

a) pointing upwards

b) pointing downwards
c) pointing by side

d) bulging outwards
Ans (d)

. The letter L has disappeared from the words given here By restoring the number
of L’s in the parenthesis. can you identify the original word ? AISE

a) laise
b) alise
c) aisle
d) alaise
Ans (c)

. The letter L has disappeared from the words given here By restoring the number
of L’s in the parenthesis, can you identify the original word ? AMA

a) lama
b) llama
c) amal

d) mamla
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Ans (b)

8. Find out the word from the following that is misspelt.

a) ALRIGHT

b) COOLLY

c) SUPERSEDE
d) DISAPPEAR
Ans (a)

9. Find out the word from the following that is misspell.

a) INOCULATE
b) DEFINITELY
c) RECOMMEND
d) RESISSTANT
Ans (d)

10.Choose the correct alternative to fill in the blank. There will be a rush for seats
when the train

a) will arrive
b) arrived
c) is arriving
d) arrives

Ans (d)
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Aptitude

1.

The area from an arc to the centre of circle is 12.4 sq.crn. If this are subtends an
angle of at the centre, what will bethe area of the remaining part of the circle?

a) 70 sq cm
b) 80 sq cm
c) 62 sq cm
d) 85 sq cm
Ans (c)

A student walks from his house at a speed of 4 km/hr and reaches his school 5
minutes late. If his speed had been 5 kmlhr. he would have reached 10 minutes

a) 4 km
b) 4.5 km
c) 5 km
d) 5.5 km
Ans (c)

The difference between the square of two nos is 256000 and the sum of the
number is 1000. The nos are:

a) 628, 372
b) 600, 400
c) 640. 630
d) None

Ans (a)
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4. The radius of a circle is increased so that its circumference is increased by 5%.
area of the circle will increase by

a)0.1

b) 0.1025
c) 0.0875
d) 0.105
Ans (b)

5. The speed of a boat downstream is 15 km/hr and the speed of the stream is 15
km/hr. the speed of upstream is

a) 13.5 km/hr
b) 16.5 km/hr
c) 12 km/hr
d) 8.25 km/hr
Ans (c)

6. A school has 20 teachers. One of them retires at the age of 60 years and a new
teacher replaces him. This change reduces the average age of the staff by 2
years.

a) 28 years
b) 25 years
c) 20 years
d) 18 years
Ans (c)

7. If the price of sugar increased by 25%. by what percentage should a housewife
decrease her consumption so that her expenditure on sugar remains the same
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d) 0.3
Ans (a)

8. Two cyclist A and 8 start from the same place at the same time. one going
towards north at 18 km/hr and other going towards south at 20 kmlhr. What time
will

a) 4 hrs 30 min
b) 4 hrs 45 min
c) 5 hrs 16 min
d) 2 hrs 30 min
Ans (d)

9. The length of the train that takes 8 seconds to pass a pole when it runs at a
speed of 36 km/hr, is

a) 288 metres
b) 45 metres
c) 48 metres
d) 80 metres
Ans (d)

10.If a man’s rate with the current is12 km/hr 8. the rate of the current is1.5 kmlhr
then man’s rate against Current is

a) 9 km/hr
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b) 6. 75 km/hr
c) 5.25 km/hr
d) 7.5 km/hr
Ans (a)
Analytical Reasoning

1. Select the one which is different from the other three responses. Lion, Goat,
Tortoise, Deer https://www.freshersnow.com/previous-year-question-papers/

a) Lion
b) Goat
c) Tortoise
d) Deer
Ans (c)

2. Select the one which is different from the other three responses. Paper, Pencil,
Crayon, Pen

a) Paper
b) Pencil
c) Crayon
d) Pen
Ans (a)

3. Ais the sister of B. B is the brother of C. C is the son of D. How is D related to A?
a) Mother

b) Daughter
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C) San
d) Uncle
Ans (a)

. Find a positive number which when increased by 17 is equal to 60 times the
reciprocal of the number

a)3
b) 10
c) 17
d) 20
Ans (a)

. Find the relation from the series. Bee is to Honey as Cow is to

a) Animal
b) Grass
c) Milk

d) Water
Ans (c)

. Find the value from the series Rajan buys a clock for Rs. 120 and sold for
Rs.105. The loss percent is

a)12.5%
b) 25%
c) 15%

d) 30%
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Ans (a)

7. Find the logical reasoning from the series Statements: All wives are women She
is @ woman inferences:

a) She is a wife

b) She is a woman
c) N/A

d) N/A

Ans (b)

8. Straighten the jumbled words and find out the odd man out:

a) GEREN
b) HTIEW
c) UELB
d) TERAW
Ans (d)

9. Among five friends Dipti is in the middle by age. kamal is youngest.Ulka is older
than Nayan but is younger than Alka and Dipti.Who is oldest among them?

a) Alka
b) Kamal
c) Nayan
d) Ulka
Ans (a)

10.Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than Akbar.
Soham too is not as tall as Salim but taller than Akbar. Who is the tallest
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a) Salim

b) Akbar

c) Soham

d) Ahmed

Ans (d)
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